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lll Semester B.Com. Examination, November/December 2016
(2015-16 & Onwards) (CBCS) (F+R)
COMMERCE
3.6 : Quantitative Analysis for Business Decision - II

Time : 3 Hours Max. Marks : 70

Instructions :  Answers should be written completely either in English or in
Kannada.

SECTION—-A

1. Answerany five sub-questions. Each sub question carriestwomarks.  (5x2=10)
a) What is meant by perfect correlation ?
@) 'TOFPEF ATRCLOT RotTeTo ?
b) State the assumptions of interpolation. TN
W) ‘GoliT LIS ﬁqﬁrﬁ#@ 2000, gl
c) State the components of time series. RN A
%) ‘R0 IS0 oTnYR) SV o
d) If bxy = 1.2, byx = 0.8, obtain 'r’.
@) bxy = 1.2, byx = 0.8 &I, ‘' Sc@obR0W0.
e) State any two merits of sampling.
) ‘BRTO'0H a’uﬁo&.@eﬁﬁ%ﬁ;ﬂi R
~ f) What are mutually exclusive events ?
2FF) BORT DFeR SIFoLT D0TBTERD?
g) Distinguish between ‘parameter’ and ‘statistic’,
%) "TOTRITT T ‘AT VBT T AN TR

SECTION-B

Answer any three questions from the following. Each question carries six marks.
(3x6=18)
2. Itis known that the population S.D in waiting time for new gas connection in a
particular town is 25 days. How large a sample should be chosen with an allowable
error of 6 days of the true average waiting time, at 95% confidence level ?
(Z value at 95% confidence level = 1.96).
WOTD BNOTEY TR MR ROTEF TEODL) 00T RH0d wsos o s Suod
25 QAN 2, Sowd 3oty 95% wd) , WoneHeRs Srish, wc:s:rd ESloprrislevslelny
6 Q= soodns dﬁ@d@dﬁ :u‘uacuo g, D), 7
(Rrodss: Sows w3, 95% I P, = 1.96).
P.T.O.
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3. A single card is chosen at random from a standard deck of 52 playing cards.
What is the probability of choosing
a) Akingoraclub?
b) Akingoraqueen?
52 ety SUNYY, 2,000 PECRR, BOK) PR >n
a) Tots e ﬁm O] cJJa’J 3riosoos A:cw‘uﬁ
b) oow B T3 ca@_,.:mai: 3roloza c‘@ﬁﬁ MJ 9

4. Find the index number for 2006 from the following table of index numbers, using
binomial expansion method.

|
Year : 2004\ 2005 | 2007 | 2008 ‘

|
Index No. : 157 2 L4
L,\ e et

20063 IRFT A R, 008 Bt BoLss  s0noes o RO DF T R,
B’Od)&) E%0.0E}. /i ; y "::’ﬁl\
_| ( \'l’:;
l‘sa;g;; ’ 2004 | 2005 | 2007 | 2008 CARY 18
ﬁ\ s
b : | 100 Um' 157 | 212 B
AELE| SN TR Aactemg )

5. The following table shows the mean and standard deviation of prizes of two shares
in a stock exchange.

Shares Mean (in Rs.) | Standard deviation (in R:)J

A Ltd. 395 10.8 "
BLd. | 475 16

B e

If the correlatlon coefficient between the pnces of two .shares is 0.42, find the
most likely price of share A Ltd., corresponding to price of Rs. 55 of share of
B Ltd..

vor waso:os weofﬁ i RTIRD =B wmm m,c;ssm SRETZT.

do | Rowto(de) | FEerisdued(e)

A Ltd. 39.5 10.8

B Ltd. 47.5 _L 16

,ﬁ”om@ -’ammo 42 > w03 B’ @wﬁm‘aﬂ e 03¢ 3. 55 amn ‘Al 0E' S
603 LIIoddR) Boro @O0
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6. Obtain the rank coefficient of correlation from the following data.

Prize of Tea(Rs) | 75 | 88 | 95 | 70 | 60 ‘80 81 | 50 ||

Prize of Coffee (Rs) : | 120 | 134 | 150 115 | 110 '140 142L00[

ﬁé*{ﬁ.ra CHevngmicD F30800%  ACIT” o™ d o3, osf :}ai,qozww .erbrzﬁjm Fot3aEeRON0,

| umgue(ee) | 75 |88 | 95 | 70 60 |80 | 81 |50 |

|
l m@abﬁg(wa) 120 | 134 | 150 | 115 110‘140 142 100|

SECTION-C
Answer any three questions from the following. Each question carries
fourteen marks. (3x14=42)
7. The following data relates to the number of passenger car (in Millions) sold from
2000 to 2006.
-
Year : 2000 | 2001 | 2002 | 2003 | 2004 | 2005 | 2006 |
Number: | 67 | 63 | 43 'i 61 | 56 | 79 | 58 I

a) Fit a straight line trend to the data and obtain the trend values. ' AW
b) Estimate the sale of cars for the year 2010.
ot Seedoow BRké, 2000 5ox 200630 J3M BRBETIT TOMNT WRTE
(m@m-:jﬁ@ﬁe; )

S 2000 | 2001 2002 | 2003 | 2004 | 2005 | 2006 ‘
|

mcmsﬁoas- 8.7 53 43 6.1 5.6 7.9 5.8

a) L3 wob esognent R¢ TR IODI) m’ﬁom, TFERR De Ty Bordadatioto0.
b) 2010z BRr B T BRTHWFI, eaoc:s‘ﬁﬂ

8. From the following data, find out the number of students who secured more than
40 but less than 45 marks.

Marks : 30-40 | 40-50 | 50-60 | 60-70 | 70-80
No. of students : | 31 42 51 35 31|
gt ERL3os dm&)éouaoddr{}%a“f T, STIG45 2ononc émo BEOTHD RPN
oa:;oa:f% Fomob oD,
wosnd: 3040 | 4050 | 5060 | 60-70 | 7080 |

lad = .
l_a_mg@rﬁ#.qc@ﬂﬁ‘ 31 42 51 35 31 J
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-
9. From the following data on six

RO

cities, calculate the coefficient of correlation
between density of population an

d death rate,

City : A

B | ¢ D E F
Density of population : | 200

500 || 400 700 600

[
Population ('000) : 30 90 | 40 42 72

No. of deaths : Laoo L1440 | 560
397 4ot Bntesctod 't %

840 1224 312
BIAOTE * T ‘300 7 w)mmﬁ 2 =

mﬁfJObOCS
TBREBRT P00, :
wrto: Al s c o E F
wEzRos MonE: 200 | 500 || 400 | 700 | 600
T
wRoss : 30 % | 40 42 72 .
T Kosd ; 300 | 1440 | | 560 | 840 | 1224 | 312 _5“:'}‘;\”
e Y Y DL a
10. Estimate the revenue generated for the year 2013 and 2015 from the followmg ,-) Ly
table. W/
oy
Year : ’2010 2011 | 2012 | 2013 ’2014'2015 20;’
Revenue (Rs. in Crores) [ 00 | 120 | 150 Lzm E 320]
2013 3 aﬁauo2015§\ STy SITDOL eme);::‘:é’m 0Tk, =3
S[dgr:

(2010‘ 2011 ‘ 2012 | 2013 ‘ 2014 | 2015
smab(2aeaidn.): [ 100 | 120 0 [ 1e0 [T | 210 |

11. Obtain the two regression equations from the following data and estimate the
value of X when Y = 50 and the value of Y when

BEHOHaNS

gt énud:;ﬁ QTP OTS 0D &aotdZodd T RBRBNTR Bor uomao@aoe @Y =50 Relanigl
X' chcbefo ab@.ax =45 wrﬁ' Y' tdedeaty UOCZ{./EJDQC\O@

R Talatets

]
203{
— 320 |




